<28+ 2015 6
§£CC =< CC€7\ *
Q}%%%%
214000
2
. KNO, KNO,
10g| 52C 100% 5.84g |64.9%
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L 10g 47.3% 64.9% o
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KNO, KNO. KNO, KNO,
5.33 ¢ 80°C 100% 7.32 ¢ 81.4%
IS¢ 38C 100% 4.26 g 47.3%
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15 4.26 47.3
" 10 5.84 64.9
5.33 7.32 81.4
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10 g 52°C.,

5. . D>
> n(Fe'") =1 Lx0.1 mol * L™" x B.20H™ +CO2" +3H"==HCO; +2H,0
2=0.2 mol Fe C.20H™ +CO;” +4H"=—=C0, T +2H,0
0.2 mol 11.2 g B D,OH’+CO§7 +3H"=—=C0, 1 +2H,0

NaOH
; € Na, CO, o
CuCl, OH"* + OH ==H,0
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NO o - Co @HCO,; +H"==C0, 1 +H,0
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° HCO, +2H,0 B ;
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. KNO, 5g-0.808 g=4.19 g
NaCl S Se 4198 1009% =83.8%
5 58
/g /g
KNO, 0. 88 KNO, 4. 12 NaCl. KNO,
15 :
¢ NaCl 0.312 NaCl 4. 69 KN()% .
20%C . KNO,
NaCl o NaCl
KNO, o
KNO,  NaCl 100°C 20°C NaCl
( 100°C ) o 36.0 g NaCl 0. 808 g
100C 20°C NaCl .
° ° 100 g:36.0 g =m( H,0):0.808 g
KNO;, m( H,0) =2.24 ¢
NaCl ; :2.24 g-2.03 g=0.11 g(
° NaCl )
KNO, 20°C KNO,
m( H,0) : 100 g:31.6 g=2.44 g m( KNO,)
100 g:246 g =m( H,0) :5 m( H,0) =2.03 g m(KNO,) =0.771 g
100C 2.03 g(100%C 20C KNO, '5¢-0.771 g
KNO, =4.23 g
4.23 ¢ _
). NaCll . x100% =84.6%
m( NaCl)

100 ¢:39.8 g=2.03 g: m( NaCl)
m( NaCl) =0.808 ¢
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